2024F12A26H K3 IR 3@A X

IR SmE A gooﬁm E9—1}2~9 GE D if%;géégﬁ 35‘5%1‘5:347151 17 444 6 435 5 EE’;' }
= . : |EREGES
Y5ILy FR 3% BIE B4 L BF 1:29.3 L—2 5y J4ER : MMM 21 MSS 11 MMH 10 SSM 10 Grart /
HER | PREN | BEMES it 3R E AR T BH BipE (F B) ZhyvaviE B 2TE=L-28 LT 771 MTH=#IE - FE- AK A
B F | %BIMmM LB £ro18%] | F 1400m | 4T CHEE BT 2, 3, AABBIEE STE=IEA- 1—X - BigRE 244 EAYBF
8 26 | B 2 |EnEE/FE|fk  4muT | B F 1000m |647H=L—RXX—XFISF - & #HIF (HEL, MFEHY, S)EL\) BI%F 3 Fo(L REAGRE 29-b~4f8 - 3A~4F - %IF(5~1) LY 3 FIRAL
HEEARGERES WH | £ 5 | FU0RH (fm & | By || L—ALYSFAL - HBEOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE o | BERM | 1171 AR # BETR| M % je00m i WA E 3R AFERT 5ERT
FUOF—R/)— 43 Sk EEE ggo.o.o.o 79 0.0.0.0 zt._ltz.os K
= PR x £0.0.0.0 | F 0.0.0.0 | e
YrH—~3 54.0 176 JII%0.0.00 | F2000.0
T T4 YyaRa | 845 F40.0.0.0 | FF0.0.0.0 | 479 KAX
(Sea The Stars) KHF 190 F40.0.0.0 | F70.0.0.0 | 1200m ’5!’ 1:19.5
5 0.0.0.0 240000 [ -
BIIBF 0.0.0.0 | 05030580 | £3 0.0.0.0
TEAUR 3|8 Trc o | KZ000T [ F0002 241205 4 ¥ A3 |24.11.00 16 & A |24.10.17 14 ¥ K3 |24.00.30 15 F K3t | 24.09.08 14 & K3t
SR 7 wH— SRR MF 0000 | F 0000 | 3FmEM A 3% ImE N 3w |2 )—2IC 3% 313 3% 313 3%
7 54.0 .039 NA0.0.00 | F20.0.0.15|9  145E14FI4N Kot 7 1388 1&11A &M | 13 1588 2&I15A W |6 103 5&I0A 10 1538 1&ISA |A
A 2 F—drhHvE B | k¥ KB 1343@® | #40.0.0.0 | FFE0.0.0.0 [ 401 +4 iEphfe 54 @D | 307 0 JPEfkE 54 @@ | 397 0 =pEfE 54 @B | 397 -1 @k 54 ©©| 398 +5 E@kfe 54 0O
(Fa504L) K 099 KB 1343® | T4 0.0.0.2 | F550.0.0.0 | 1200m &4 B 1:17.1 39.0 | 1200m % # 1:17.9 39.4 | 1200m & B 1:18.8 40.0 | 1200m & B 1:18.7 39.9| 1200m & B 1:17.7 39.4
SREIER [£]] 00017 [£0006 | 2500017 | --0---@-[NH 361-38.5 133 (5) | $sS 37.1-39.1 253 (6) §$5 36.7-40.1 114 (6 | SSH 38.1-38.7 332 (7) | WSS 36.5-39.0 143 (1)
BEES 0.0.0.8 | #050%0580 | £ 0.0.0.0 | 428 0006 S | 722477 0-2(1.7)  SESEE [V o741 b (2.0) FEk | cY/3E (1.9) Fkk | ¥ 5592(2.2) WS
EEEEF] H3 |8 B[ ... . | KZ00018 | FME0008 |24120515 ¥ K3 24 10413 & XH# 24 I7T13 % AF (22093011 ¥ X5# (2200870 & X5
o4 0 AEE M&0000 [ F 0000 3k EN 3% 3% 3% 1 3% 3% 1 3%
56.0 .259 N4 0.0.00 [ F=0.008 8% 1F TN ‘A 10 1388 2%& 9N W 11 288 TEIOA 9 1088 6% OA 12 155E13&12A 4
3 ] Fai 25 | BB KE 1335@ | @4 0.0.0.0 [ FH 0.0.0.0 | 519 -6 Rgk:¥ 56 DDD | 525 +2 £ EE 54 ®® | 523 0 &E1BE 53 @M | 523 +5 EiEE 53 518 -6 S4B 53 [OW)
(RTA FTRIL) K 097 KB 1335@ | HH 0.0.0.5 | F50.0.0.2 | 1600m & B 1:46.6 40.9 | 1200m & # 1:18.4 40.7 | 1600m % F 1:49.9 43.4 | 1200m & B 1:19.0 39.9 | 1200m 4 B 1:18.4 40.1
pRe ] [#]] 00018 | %0005 |£%00018|--©---@-[SMM 39.1-39.6 232 (5) [ SSS 37.1-39.1 332 (11) [ SMS 39.6-41.7 132 (10) | SSM 38.1-38.7 232 (7) | MSS 36.5-39.0 223 (11)
ERE 0.0.0.0 | 050080 | £ 0.0.0.0 | #28 000 7| 7-a3k Yyb(2.7) %%k | 7a247 0-2(2.2)  %£%E | TF I(L(2.9) WER | /3 2.2) EHE | ¥ 95902.9) %k
MIAh=T9A-k H3 1%5 B O: @ : xgo 700 | ¥P90.0.0.0 | 24. 12 04 20 7;&# 24‘1‘8 18 KFF
_ ik E 497-497 | f840.0.00 [ F 0000 | 3 e
TA4)aoF 56.0 .344| Ff 56-56 #0000 [ F=0.1.00 | 2 12&11& 2A K4
Ll 4o | zFursozz4 = | AmEe 40000 | FHE0.000 | 497 #IIIF 56 @O | 517 #)IE
(Fv/n704) K 179 &E40.0.0.0 | F750.0.0.0 | 1200m # B 1:16.3 38.8|1200m #  1:20.5
Lk e [#]] 0.1.0.0 [ % 0.1.00 [£401.00 ]| - @ ---- SSS 36.7-38.8 244 (1)
BHES 0.0.0.0 Jzoieo%nso £%0.00.0 | 528 0000 L7 4¥4-0v0(0.8) PkEXE
Justify 43 13§‘¥ | O: x;o.ow.o FEE0.0.0.0 2:;1_09.129 7 & Sjgt 21._0_%.13 R¥#
e EvE 4 0.0.0.0 | F 0000 (32
I UFNTR 56.0 229 N 0000 | F=0010 |3 108 5% 1A
5(5|0|57L54— FAESES 4 0.0.0.0 | FH0.0.0.0 | 554 FxZ3} 56 @D | 567 #HEs+
(Equal Stripes) A3 461 F40.0.0.0 | F/0.0.0.0 | 1200m & # 1:16.3 38.1|1200m #  1:19.6
Tk [#]] 0.0.1.0 20010 [ +eees SSM 37.3-38.5 245 (1)
) 5" 1992 0.0.0.0 | 04030380 | £ 0.0.0.0 |ty 0000 | FE-75992(0.5)  sEikie
AZ—Ea1—X 43 R xgoooo F/0.0.0.0 | 24.08.12 F 7;&# 24b._o_€.12 K
—_ EHE 440000 [ F 0000 |3%13 3 BES
N==TA )R 54.0 .199 NA0.0.00 | F=0.000 | B 1458 7%
6 AZIS5XT757— N #0000 | FH0.000 | — HHE 54 453 EHE
(Cor inthian) K3 205 FH0.0.0.0 | F/K0.0.0.0 |1200m ¥ B 1000m 4 1:06.8
ERKIE 0.0.0.0 40000 | v SSH 37.0-37.4
LILRE 0.0.0.0 | 0203080 | £% 0.0.0.0 k%
AXAA—RTxA 3|17 % . | K2 00017 | FM000.7 |24 12 0417 S K3 |24.11.04 17 B K3+ |24.70.16 15 E A3t |24.07.08 12 B K3t | 24.06.03 12 & A3
ZLIYS4ITS EE 50000 | F 00003 3 | 3WAE A 3 | HETC 3 | 3m11 3 [ 3m13 3%
2 54.0 051 JII#0.0.0.0 [ ¥=0.0.0.10| 5 125§ 5&10A 6 1158 3&/IA 9  MESENA s [8 1188 8F OA s |11 13EEI2EIBA K4
1[7]| a1l =rasFqo—¥ B | A KH 13196 | 4 0.0.0.0 | FE0.0.0.0 | 459 +16 HE 54 @O | 443 -9 HERIE 54 QMM | 452 +4 HRIE 54 448 -1 Bt 51 DOO| 449 -2 HHEE 51 DO
(ZSF4%) K#* 116 XH 1319©) | T4 0.0.0.6 | F750.0.0.0 | 1200m &4 B 1:17.4 39.6 | 1400m % # 1:31.9 40.7 | 1200m & B 1:19.4 40.5 | 1400m % 4 1:34.6 40.6 | 1200m & T 1:19.6 40.0
AR [#]] 00017 | %0006 |£%00017|--®---©-[SSS 36.7-38.8 153 (4) [ MMM 37.3-39.4 132 (4) [ SSS 37.2-39.4 233 (6) | SMM 39.9-39.7 143 (6) | SSS 37.4-39.6 133 (4)
HHET 0.0.0.3 | #05£0%0:80 | £ 0.0.0.0 | 28 0008 | LF ¢y4-0yb(1.9) 3k&EE | 7v9/M7 ¥(2.5) ZEESE | F291-45(2.8) ESE | 5400 T4 (2.3) Sk | 2ty (2.6) EES
R—HNNF 43 ]9 B A | XKZ00020 [ FmM0.0.0.3 24 12 04 1M £ x# 24 11.04 11 B OKHF [24.10.16 16 B KFH [24.09.29 8 B KFH [24.09.08 12 &FE KH
1.—7_—“77]7‘)(, BANE A 0.0.0.0 [ F 0.0.0.0 3% kAN 3% HtIvC 3% 3%15 3% 3% 15 s
52.0 .107 JI40.0.0.0 | F=0.0.0.17 12 123512§1ZA Kot 12 13vﬁ1o§13)\ s |5 1188 3B/IOA 10 1088 4% 9A 10 1288 7% 9A
1(8 YI—)H—F BE | ErE KB 1348@ | #40.0.0.0 | FFH0.0.0.0 | 416 +7 Injkhs 51 @®1 | 409 +5 ANk 51 @ | 404 +2 HANE 52 (O 402 0 =HEE 51 @®| 402 -1 RiE¥ 54 OO
(7 RRAL¥I V5 R) K3 015 KB 13480 | £ 0.0.0.8 | F750.0.0.0 | 1200m % B 1:19.0 41.3 | 1200m &% # 1:18.9 40.4 | 1200m % B 1:18.8 39.5 | 1200m % # 1:19.3 41.2 | 1200m % B 1:20.1 40.7
it [#1] 0002 [ %0005 240002 |- --@ --@-|SSS 36.7-38.8 211 (11) | 88 37.1-39.1 142 (9) | SSS 37.2-39.4 134 (4) | SSM 37.3-38.5 221 (10) | SSS 36.9-39.9 133 (4)
JEEAE 0.0.0.2 | #0%02£0i80 | £ 0.0.0.0 | 5258 0009 | b7 4»4-0yb(3.5) MEZE | 7A24+7 0-2(2.7) K%EE | F294-45(2.2) HER | M E-759923.5)  sEkiB [ 4 vy 5@3.3) EkE
EvT7—¥— HI [ 17 A [ RFO00L2 [FWEO0.1T [240812 17 F K3 [2407.29 14 F K3 [24.07.08 14 B X¥ |2 2 KF
T EFIL—H— FEE M&0000 |F 0000 |3F13 3 | 313 3 | 3F11 3% | RBER
56.0 .114 N4 0000 [ F=0001 |3 1088 1% 3A |H |5 135E11E TN 5 |7 1138 4% 5A
8|9|a|EysHL Z |Bax AB 13120 | #40.0.0.0 | FE0.0.0.0 | 506 -2 FE#¥ 56 ©@D | 508 5 FMH¥ 56 (M| 513 FEE 56 ©@DD|517 FEH
(Zamindar) K## .138| KB 1312® | 4 0.0.0.0 | F750.0.0.0 | 1400m &4 B 1:31.2 40.5 | 1200m & B 1:18.2 39.4 | 1400m & # 1:34.4 40.9 | 1000m &  1:04.1
BIEZ [#]] 0.0.1.2 RH0.01.2 | e NSS 37.3-30.8 443 (4) | SSS 37.1-39.4 134 (2) | SWM 39.9-39.7 233 (1)
HTEE 0.0.1.2 | #0503£0580 | £% 0.0.0.0 | 81+ 0000 | 25-¥44v(1.0) WS | YV -T4-T 9k (1.7) #akSe | 95400 EA-(2.1) sk
A94 I FALTR 539 T ... | KZ00013 | FE0006 |24120513 F K3 24 10410 & K3 |24.10.16 14 & A3 |24.00.20 13 & A3t 24060312 # K3
NF/ 503 BRR M& 0000 |F 0000 | 3FEM A 3% N 3 | HEIUC 3% | 3m15 3k | 3m13 3%
54.0 .093 NIA0.0.0.0 | F=0.0.0.7 | 14 145 281N A 11 11EE10BI0A X4t | 4 1188 7% TA 6 1058 9% 6A X5 |9 1388 3&EI0A
8110| a2| Ny TFTam=n B | FestAR XE 1338@ | 4 0.0.0.0 | FH0.0.0.0 440 0 @it 51 ®O©@ | 440 +3 At 51 @@ 437 +3 54 434 0 AHHE 51 DD
(=F4H+-2"42) A# .100[ KE 1338@ | E40.0.0.6 | F550.0.0.0 | 1200m /; ) .7 1400m % # 1:35.9 45.3|1200m & B 1:18.7 41.4 | 1200m 9’ 4 1:18.3 40.7 [ 1400m % E 1:33.8 42.1
H77-h [%1]0.0.0.13 [ %0002 | 2400013 | --®---a@-MSM 36.1-38.5 231 (13) | MMM 37.3-39.4 311 (11) | SSS 37.2-39.4 532 (9) | SSM 37.3-38.5 431 (8) | SSM 38.8-39.7 511 (10)
B BEE () 0.0.0.2 | 05050580 | £ 0.0.0.0 | #1258 0005 | {07 1(3.0) E5x | TN V6.5  EESE | Fa9-452.1) HER | FE-75992(2.5) kB | £ a-¥av(2.4) KER
K3 A — k 1400mES F A (SETEARS : 2022.12. 24~2024.12.23)
33 B¥4a HERS 1% 2% 3&F @5 BE ExtE 144 BF4 HERSK 1% 2% 3F &S BE ExE
1 XB#E 25 74 23 28 131 0.289 0.379 30 KRAX 60 3 2 2 53 0.050 0.083
3 R 228 3% 14 21 157 0.158 0.219 34 REE 81 2 2 34 0.025 0.049
8  EHHE 229 18 12 2 N 0.079 0.131 56 EREME 37 0 0 2 35 0.000 0.000
13 XEE 157 10 16 15 116 0.064 0.166
17 BRE 195 7 17 2 151 0.036 0.123
18 BERR 202 6 14 11 1N 0.030 0.099
20 FEF 102 6 5 10 8 0.059 0.108
KA — 1400miB4 5 Htk (SEEHHARY : 2022.12. 24~2024.12. 23) ERTE HEHSHENE
JEE HiHEA WEESH 15 2%F 3%/ s BE R * (& 1 2 3 456 7 8
1 Ava—F LTI 194 26 19 17 132 0.134 0.232 F (37%&M=:E) 25 22 23 23 23 21 21 19
2 IRRIT—LF— 165 19 19 15 112 0.115 0230 0 ____
3 TFIFIVRILRA 133 18 24 13 78 0.135 0.316 7 ® RAIEG
4 IUF—=v 134 16 8 16 94 0.119 0.179 I KIFHEST (534,544) 1 *
5 93 16 6 7 64 0.172 0287 0 HFHIE L (434, 445) 7 sorkonionk
6 93 1“4 13 8 58 0.151 0.290 q, ) F<Y (255,355 1%
1 = 81 14 7 3 57 0.173 0. 259 = BLNAH (335,245) 1 *
8 MO 138 13 16 11 9 0.094 0.210 o _______
9 YUIRFAVIIAUT— 107 12 11 9 75 0.112 0.215 % ©
10 O—KA+a7 5210 5 6 3 0.192 0.288 5 @066

BEEMT 0. HHORERZ. HEWH. BFEEGE. INTERBRTOUBREBELTTSL,

2024412A268 K# IR 3@EA A 43 TLv FR 3% BIE 1400m %—k-A 5 AEHNDOMEB, EWERLET,



